

Republic of the Philippines

Department of Education

Cordillera administrative region

BID BULLETIN No. 02 DEPED-CAR RO - CB 2024-03-006

TO

BAC Members, TWG & BAC Secretariat

All Interested Bidders

All Concerned

FROM

RONALD B CASTILLO, CESO V

BAC Chairberson

PROJECT

CATERING SERVICES FOR THE CONDUCT OF VARIOUS

PROGRAMS, PROJECTS, AND ACTIVITIES (PPAs) OF DEPED-CAR REGIONAL OFFICE UNDER SINGLE YEAR

FRAMEWORK AGREEMENT FOR CY 2024

DATE

March 21, 2024

Project Identification Number: DEPED-CAR RO - CB 2024-03-006

For the information of all interested bidders and all concerned, amendment of the project: "Catering Services for the Conduct of Various Programs, Projects, and Activities (PPAs) of DepEd-CAR Regional Office Under Single-Year Framework Agreement for CY 2024" are the following:

1. Amendment/Supplemental in Section I, Invitation to Bid

NO.	FROM	ТО
1.	Bids must be duly received by the BAC Secretariat at the Office of the Assistant Regional Director of the DepEd-CAR RO, address below, on or before 9:01 AM of April 4, 2024. Late bids shall not be accepted	Bids must be duly received by the BAC Secretariat at the Office of the Assistant Regional Director of the DepEd-CAR RO, address below, on or before 9:00 AM of April 4, 2024. Late bids shall not be accepted

2. Amendment/Supplemental in Section II, Instructions to Bidders

NO.	FROM	ТО
15.	The Procuring Entity may request two (2) additional hard copies (Labelled as Copy 1 and Copy 2) and/or electronic copies of the Bid. However, failure of the Bidders to comply with the said request shall not be a ground for disqualification.	The Procuring Entity may request two (2) additional hard copies (Labelled as Copy 1 and Copy 2) and/or electronic copies of the Bid. However, failure of the Bidders to comply with the said request shall not be a ground for disqualification.





Address: DepEd-CAR Complex, Wangal, La Trinidad, Benguet, 2601

Telephone No: (074) 422 - 1318 Email Address: car@deped.gov.ph Doc. Ref. Code RO-ASD-F052 Rev 00 Effectivity 01/10/2024 Page 1 of 1





3. Amendment/Supplemental in Section III, Bid Data Sheet

NO.	FROM	то				
20.2	Within a non-extendible period of	Within a non-extendible period of				
	five (5) calendar days from	five (5) calendar days from receipt				
	receipt by the bidder of the notice	by the bidder of the notice from the				
	from the BAC that it submitted the	BAC that it submitted the LCB, the				
	LCB, the Bidder shall submit	Bidder shall submit copies of the				
	copies of the following	following requirements:				
	requirements:	1. Latest income and business tax				
	1. Latest income and business tax	returns filed and paid through				
	returns filed and paid through	the BIR Electronic Filing and				
	the BIR Electronic Filing and	Payment System (eFPS)				
	Payment System (eFPS)					
		2. License to Operate (LTO) if				
	2. License to Operate (LTO) if Applicable	Applicable				
	Applicable	3. Sanitary permit (Sec. 14,				
	3. Sanitary permit (Sec. 14,	Chapter III, PD 856 "The Code on				
	Chapter III, PD 856 "The Code	Sanitation of the Philippines')				
	on Sanitation of the Philippines')	Santation of the Timppines)				
	on cantation of the rimppines)	4. Health Certificate/s of Food				
	4. Health Certificate/s of Food	Handler/s (Sec. 15, Chapter III,				
	Handler/s (Sec. 15, Chapter III,	PD 856)				
	PD 856)	12 550,				
	,					

4. Amendment/Supplemental in Section V, Special Conditions of Contract

NO.	FROM	то
	Delivery	and Documents
b.	Where there is an increase or decrease in the number of participants, the End-user shall inform the Supplier one (1) day before serving the meals.	Where there is an increase or decrease in the number of participants, the End-user shall inform the Supplier at least 24 hours before serving the meals.
d.	Delivery time of the food to be served as follows: Breakfast – not later than 7:00 a.m. AM Snacks - not later than 9:30 a.m. Lunch - not later than 11:30 a.m. PM Snacks - not later than 2:30 p.m. Dinner- not later than 6:00 p.m. or as requested by the program owner/end user	Delivery time of the food to be served as follows: Breakfast: not later than 7:00 a.m. AM Snacks: not later than 9:30 a.m. Lunch: not later than 11:30 a.m. PM Snacks: not later than 2:30 p.m. Dinner: not later than 6:00 p.m. or as requested by the program owner/end user a. Duration of time for serving meals and snacks Breakfast: 7:00 AM to 9:00 AM AM Snacks: 9:30 AM to 10:30 AM

	TERMS & CONDITION	Lunch: 11:30 AM to 1:00 PM PM Snacks: 2:30 PM to 3:30PM Dinner: 6:00 PM to 7:30PM or as requested by the program owner/end user S OF CONTRACT OF SERVICE
D	Any excess/leftover food of the catering services shall be turned over to the End User at the end of each day.	Any excess/leftover food and packed food of the catering services shall be turned over to the End User and participants after each meal duration. The end user shall receive and sign a waiver from the service provider, allowing them to bring excess/leftover food and packed food outside the vicinity or designated area of service. The service provider shall not be held liable in case of spoilage or food poisoning.

5. Amendment/Supplemental in Section VI, Framework Agreement List

NO.	FROM	то
	Quantity	Quantity
	(Total Pax from Breakfast to Dinner)	(Total Pax from Breakfast to Dinner)
	17,608	19,299

6. Amendment/Supplemental in Section VI, Framework Agreement List

NO.	FROM						то				
13	MID YEAR F	PIR for (OKD	Prograi	ms		MID YEAR F	PIR for OKI) Prog	rams	
Day	Dinner	350	33	6,3	300		Dinner	350	18	6,300	
0	Breakfast	200		6,6	600		Breakfast	200	33	6,600	
Day	AM Snack	100		3,3	300		AM Snack	100	33	3,300	
1	Lunch	350		11,	550		Lunch	350	33	11,550	
	PM Snack	100		3,3	300		PM Snack	100	33	3,300	
	Dinner	350		11,	550		Dinner	350	33	11,550	
Day	Breakfast	200		6,0	600		Breakfast	200	33	6,600	
2	AM Snack	100		3,3	300		AM Snack	100	33	3,300	
	Lunch	350		11,	550		Lunch	350	33	11,550	
19	Capacity Buil Psychologica Strengthenin Mental Healt	Assess g the Pr	ment omot	and tion of S			Capacity Buil Psychologica Strengthenin Mental Healt	l Assessmei g the Prom	nt and otion o	of School	
Day	Lunch	350		81	28,350		Lunch	350	81	28,350	
1	PM Snack	100			8,100		PM Snack	100	81	8,100	
	Dinner	350			14,000		Dinner	350	40	14,000	
	Breakfast	200			16,200		Breakfast	200	81	16,200	

Day	AM Snack	100		8,100	AM Snack	100	81	8,100
2	Lunch	350		28,350	Lunch	350	81	28,350
	PM Snack	100		8,100	PM Snack	100	81	8,100
	Dinner	350		14,000	Dinner	350	40	14,000
	Breakfast	200		16,200	Breakfast	200	81	16,200
Day	AM Snack	100		8,100	AM Snack	100	81	8,100
3	Lunch	350		28,350	Lunch	350	81	28,350
	PM Snack	100		8,100	PM Snack	100	81	8,100
	Dinner	350		14,000	Dinner	350	40	14,000
	Breakfast	200		16,200	Breakfast	200	81	16,200
Day 4	AM Snack	100		8,100	AM Snack	100	81	8,100
4	Lunch	350		28,350	Lunch	350	81	28,350
	PM Snack	100		8,100	PM Snack	100	81	8,100
	Dinner	350		14,000	Dinner	350	40	14,000
Day	Breakfast	200		16,200	Breakfast	200	81	16,200
5	AM Snack	100		8,100	AM Snack	100	81	8,100
	Lunch	350		28,350	Lunch	350	81	28,350
1				E 272/2/	100 0 E .	100	04	8,100
	PM Snack	100		8,100	PM Snack	100	81	8,100
24	PM Snack Performance SDO		Evaluat		PM Snack Performance SDO			
24	Performance		Evaluat 40		Performano			
24	Performano SDO	e Mid Year		ion for	Performano SDO	e Mid Yea	r Evalua	tion for
24	Performanc SDO Breakfast	e Mid Year		3,200	Performanc SDO Breakfast	e Mid Yea	r Evalua	3,200
24	Performanc SDO Breakfast AM Snack	200 100		3,200 4,000	Performanc SDO Breakfast AM Snack	200 100	16 40	3,200 4,000
24	Performance SDO Breakfast AM Snack Lunch	200 100 350		3,200 4,000 14,000	Performanc SDO Breakfast AM Snack Lunch	200 100 350	16 40 40	3,200 4,000 14,000 4,000
19	Performance SDO Breakfast AM Snack Lunch PM Snack	200 100 350 100 350 lding on the I Assessmen	40 Delivery	3,200 4,000 14,000 4,000 5,600 of Basic	Performanc SDO Breakfast AM Snack Lunch PM Snack	200 100 350 100 350 ding on the I Assessme	r Evalua 16 40 40 40 16 e Deliver nt and ootion of	3,200 4,000 14,000 4,000 5,600 y of Basic School
19 Day	Performance SDO Breakfast AM Snack Lunch PM Snack Dinner Capacity Buil Psychologica Strengthenin	200 100 350 100 350 lding on the I Assessmen	40 Delivery	3,200 4,000 14,000 4,000 5,600 of Basic	Performance SDO Breakfast AM Snack Lunch PM Snack Dinner Capacity Buil Psychologica Strengthenin	200 100 350 100 350 ding on the I Assessme	r Evalua 16 40 40 40 16 e Deliver nt and ootion of	3,200 4,000 14,000 4,000 5,600 y of Basic
19	Performance SDO Breakfast AM Snack Lunch PM Snack Dinner Capacity Buil Psychologica Strengthenin Mental Healt	200 100 350 100 350 ding on the I Assessment of the Program (Delivery	3,200 4,000 14,000 4,000 5,600 of Basic	Performance SDO Breakfast AM Snack Lunch PM Snack Dinner Capacity Buil Psychologica Strengthenin Mental Healt	200 100 350 100 350 ding on the I Assessme	r Evalua 16 40 40 16 Deliver and sotion of (Batch 2	3,200 4,000 14,000 5,600 y of Basic School)
19 Day 1	Performance SDO Breakfast AM Snack Lunch PM Snack Dinner Capacity Buil Psychologica Strengthenin Mental Healt Lunch	200 100 350 100 350 Iding on the I Assessment of the Program (Delivery	3,200 4,000 14,000 4,000 5,600 of Basic School	Performance SDO Breakfast AM Snack Lunch PM Snack Dinner Capacity Buil Psychologica Strengthenin Mental Healt Lunch	200 100 350 100 350 ding on the l Assessme of the Program 350	r Evaluate 16 40 40 40 16 e Deliver nt and otion of (Batch 2 81	3,200 4,000 14,000 4,000 5,600 y of Basic School
19 Day 1 Day	Performance SDO Breakfast AM Snack Lunch PM Snack Dinner Capacity Built Psychologica Strengthenin Mental Healt Lunch PM Snack	200 100 350 100 350 Iding on the I Assessment the Program (350 100	Delivery	3,200 4,000 14,000 4,000 5,600 of Basic School 28,350 8,100	Performance SDO Breakfast AM Snack Lunch PM Snack Dinner Capacity Built Psychologica Strengthenin Mental Healt Lunch PM Snack	200 100 350 100 350 ding on the I Assessme of the Program 350 100	r Evaluate 16 40 40 40 16 e Deliver nt and option of (Batch 2 81 81	3,200 4,000 14,000 5,600 y of Basic School) 28,350 8,100
19 Day 1	Performance SDO Breakfast AM Snack Lunch PM Snack Dinner Capacity Built Psychologica Strengthenin Mental Healt Lunch PM Snack Dinner	200 100 350 100 350 ding on the I Assessmen (ath Program (assessmen (brown)) 100 350 100 350	Delivery	3,200 4,000 14,000 5,600 of Basic School 28,350 8,100 14,000	Performance SDO Breakfast AM Snack Lunch PM Snack Dinner Capacity Buil Psychologica Strengthenin Mental Healt Lunch PM Snack Dinner	200 100 350 100 350 ding on the I Assessme of the Program 350 100 350	r Evaluaries Februaries 16 40 40 40 16 Poliver ent and rotion of (Batch 2 81 81 40	3,200 4,000 14,000 5,600 y of Basic School) 28,350 8,100 14,000
19 Day 1 Day	Performance SDO Breakfast AM Snack Lunch PM Snack Dinner Capacity Buil Psychologica Strengthenin Mental Healt Lunch PM Snack Dinner Breakfast	200 100 350 100 350 Iding on the I Assessment of the Program (350 100 350 200	Delivery	3,200 4,000 14,000 5,600 of Basic School 28,350 8,100 14,000 16,200	Performance SDO Breakfast AM Snack Lunch PM Snack Dinner Capacity Built Psychologica Strengthenin Mental Healt Lunch PM Snack Dinner Breakfast	200 100 350 100 350 ding on the l Assessme g the Program 350 100 350 200	16 40 40 40 16 Deliver nt and otion of (Batch 2 81 81 40 81	3,200 4,000 14,000 5,600 y of Basic School) 28,350 8,100 14,000 16,200 8,100
19 Day 1 Day	Performance SDO Breakfast AM Snack Lunch PM Snack Dinner Capacity Built Psychologica Strengthenin Mental Healt Lunch PM Snack Dinner Breakfast AM Snack	200 100 350 100 350 Iding on the I Assessment Program (350 100 350 100 350 100	Delivery	3,200 4,000 14,000 5,600 of Basic School 28,350 8,100 14,000 16,200 8,100	Performance SDO Breakfast AM Snack Lunch PM Snack Dinner Capacity Built Psychologica Strengthenin Mental Healt Lunch PM Snack Dinner Breakfast AM Snack	200 100 350 100 350 Iding on the I Assessme the Program 350 100 350 200 100	16 40 40 40 16 Deliver nt and ootion of (Batch 2 81 81 40 81	3,200 4,000 14,000 5,600 y of Basic School) 28,350 8,100 14,000 16,200
19 Day 1 Day	Performance SDO Breakfast AM Snack Lunch PM Snack Dinner Capacity Built Psychologica Strengthenin Mental Healt Lunch PM Snack Dinner Breakfast AM Snack Lunch	200 100 350 100 350 Iding on the I Assessment of the Program (350 100 350 100 350 200 100 350	Delivery	3,200 4,000 14,000 5,600 7 of Basic School 28,350 8,100 14,000 16,200 8,100 28,350	Performance SDO Breakfast AM Snack Lunch PM Snack Dinner Capacity Buil Psychologica Strengthenin Mental Healt Lunch PM Snack Dinner Breakfast AM Snack Lunch	200 100 350 100 350 ding on the l Assessme of the Program 350 100 350 200 100 350	16 40 40 40 16 Deliver int and action of (Batch 2 81 81 40 81 81	3,200 4,000 14,000 5,600 y of Basic School) 28,350 8,100 14,000 28,350 8,100
Day 1 Day 2	Performance SDO Breakfast AM Snack Lunch PM Snack Dinner Capacity Built Psychologica Strengthenin Mental Healt Lunch PM Snack Dinner Breakfast AM Snack Lunch PM Snack Lunch PM Snack	200 100 350 100 350 Iding on the I Assessment Program (350 100 350 100 350 100 350 100	Delivery	3,200 4,000 14,000 5,600 of Basic School 28,350 8,100 14,000 16,200 8,100 28,350 8,100	Performance SDO Breakfast AM Snack Lunch PM Snack Dinner Capacity Buil Psychologica Strengthenin Mental Healt Lunch PM Snack Dinner Breakfast AM Snack Lunch PM Snack	200 100 350 100 350 ding on the l Assessme g the Program 350 100 350 200 100 350 100	16 40 40 40 16 Deliver nt and otion of (Batch 2 81 81 81 81 81 81	3,200 4,000 14,000 5,600 y of Basic School) 28,350 8,100 14,000 28,350 8,100 14,000
19 Day 1 Day 2	Performance SDO Breakfast AM Snack Lunch PM Snack Dinner Capacity Built Psychologica Strengthenint Mental Healt Lunch PM Snack Dinner Breakfast AM Snack Lunch PM Snack Lunch PM Snack Dinner	200 100 350 100 350 ding on the I Assessment of the Program (350 100 350 100 350 100 350 100 350	Delivery	3,200 4,000 14,000 5,600 5,600 7 of Basic School 28,350 8,100 14,000 28,350 8,100 14,000	Performance SDO Breakfast AM Snack Lunch PM Snack Dinner Capacity Buil Psychologica Strengthenin Mental Healt Lunch PM Snack Dinner Breakfast AM Snack Lunch PM Snack Lunch PM Snack Dinner	200 100 350 100 350 ding on the I Assessme Ith Program 350 100 350 100 350 100 350 100 350	16 40 40 40 16 Deliver nt and otion of (Batch 2 81 81 40 81 81 81 81	3,200 4,000 14,000 5,600 y of Basic School) 28,350 8,100 14,000 28,350 8,100 14,000 16,200
Day 1 Day 2	Performance SDO Breakfast AM Snack Lunch PM Snack Dinner Capacity Buil Psychologica Strengthenin Mental Healt Lunch PM Snack Dinner Breakfast AM Snack Lunch PM Snack Dinner Breakfast Eunch PM Snack Dinner Breakfast Breakfast	200 100 350 100 350 ding on the I Assessment of the Program (350 100 350 100 350 100 350 200 100 350 200 100 350 200	Delivery	3,200 4,000 14,000 5,600 7 of Basic School 28,350 8,100 14,000 28,350 8,100 14,000 16,200	Performance SDO Breakfast AM Snack Lunch PM Snack Dinner Capacity Buil Psychologica Strengthenin Mental Healt Lunch PM Snack Dinner Breakfast AM Snack Lunch PM Snack Lunch PM Snack Dinner Breakfast Am Snack Lunch PM Snack Dinner	200 100 350 100 350 ding on the l Assessment Program 350 100 350 100 350 100 350 100 350 200 100 350 200	16 40 40 40 16 Deliver ent and otion of (Batch 2 81 81 81 81 81 81 81 81	3,200 4,000 14,000 5,600 y of Basic School) 28,350 8,100 14,000 16,200 8,100 28,350

					-0.0				
Day	Dinner	350		14,000		Dinner	350	40	14,000
4	Breakfast	200		16,200		Breakfast	200	81	16,200
	AM Snack	100		8,100		AM Snack	100	81	8,100
	Lunch	350		28,350		Lunch	350	81	28,350
	PM Snack	100		8,100		PM Snack	100	81	8,100
Day	Dinner	350		14,000		Dinner	350	40	14,000
5	Breakfast	200		16,200		Breakfast	200	81	16,200
	AM Snack	100		8,100		AM Snack	100	81	8,100
	Lunch	350		28,350		Lunch	350	81	28,350
	PM Snack	100		8,100		PM Snack	100	81	8,100
30	Workshop of the PSMS	on the Impl	ementa	tion of	Workshop on the Implementation of the PSMS				
Day	AM Snack	100	25	2,500		AM Snack	100	25	2,500
1	Lunch	400		10,000		Lunch	400	25	10,000
	PM Snack	100		2,500		PM Snack	100	25	2,500
Day	Dinner	400		6,400		Dinner	400	16	6,400
2	AM Snack	100		2,500		AM Snack	100	25	2,500
	Lunch	400		10,000		Lunch	400	25	10,000
	PM Snack	100		2,500		PM Snack	100	25	2,500
32	Conduct of Guidance P Services					Conduct of Guidance P Services			
Day 0	Dinner	350	46	8,400		Dinner	350	24	8,400
Day	Breakfast	200		9,200		Breakfast	200	46	9,200
1	AM Snack	100		4,600		AM Snack	100	46	4,600
	Lunch	250	1					1	.,,,,,
		350		16,100		Lunch	350	46	16,100
	PM Snack	100		16,100 4,600		Lunch PM Snack	350 100	46 46	
	PM Snack Dinner								16,100
Day	ļ	100		4,600		PM Snack	100	46	16,100 4,600
Day 2	Dinner	100 350		4,600 8,400		PM Snack Dinner	100 350	46 24	16,100 4,600 8,400
	Dinner Breakfast	100 350 200		4,600 8,400 9,200		PM Snack Dinner Breakfast	100 350 200	46 24 46	16,100 4,600 8,400 9,200
	Dinner Breakfast AM Snack	100 350 200 100		4,600 8,400 9,200 4,600		PM Snack Dinner Breakfast AM Snack	100 350 200 100	46 24 46 46	16,100 4,600 8,400 9,200 4,600
	Dinner Breakfast AM Snack Lunch	100 350 200 100 350 100	ELG/SSLC	4,600 8,400 9,200 4,600 16,100 4,600		PM Snack Dinner Breakfast AM Snack Lunch	100 350 200 100 350 100	46 24 46 46 46 46	16,100 4,600 8,400 9,200 4,600 16,100 4,600
2	Dinner Breakfast AM Snack Lunch PM Snack Election of	100 350 200 100 350 100	LG/SSLC	4,600 8,400 9,200 4,600 16,100 4,600		PM Snack Dinner Breakfast AM Snack Lunch PM Snack Election of	100 350 200 100 350 100	46 24 46 46 46 46	16,100 4,600 8,400 9,200 4,600 16,100 4,600
33 Day 0 Day	Dinner Breakfast AM Snack Lunch PM Snack Election of Federation	100 350 200 100 350 100 Regional SE		4,600 8,400 9,200 4,600 16,100 4,600		PM Snack Dinner Breakfast AM Snack Lunch PM Snack Election of Federation	100 350 200 100 350 100 Regional SE	46 24 46 46 46 46 46 ELG/SSLO	16,100 4,600 8,400 9,200 4,600 16,100 4,600
33 Day 0	Dinner Breakfast AM Snack Lunch PM Snack Election of Federation Dinner	100 350 200 100 350 100 Regional SE		4,600 8,400 9,200 4,600 16,100 4,600 3		PM Snack Dinner Breakfast AM Snack Lunch PM Snack Election of Federation Dinner	100 350 200 100 350 100 Regional SE	46 46 46 46 46 ELG/SSLO	16,100 4,600 8,400 9,200 4,600 16,100 4,600 G
33 Day 0 Day	Dinner Breakfast AM Snack Lunch PM Snack Election of Federation Dinner Breakfast	100 350 200 100 350 100 Regional SE		4,600 8,400 9,200 4,600 16,100 4,600 3		PM Snack Dinner Breakfast AM Snack Lunch PM Snack Election of Federation Dinner Breakfast	100 350 200 100 350 100 Regional SE	46 24 46 46 46 46 ELG/SSL0	16,100 4,600 8,400 9,200 4,600 16,100 4,600 G

ė.

56	Election of R Officers	egional P	TA Feder	ration		Election of Officers	Regional F	PTA Fede	eration
Day 0	Dinner	350	55	13,300		Dinner	350	38	11,20
ay	Breakfast	200		11,000		Breakfast	200	55	9,20
1	AM Snack	100		5,500		AM Snack	100	55	4,60
	Lunch	350		19,250		Lunch	350	55	16,10
	PM Snack	100		5,500		PM Snack	100	55	4,60
7	Workshop of the PSMS	n the Imp	lementa	ation of		Workshop o	n the Imp	lementa	ation of
ay	AM Snack	100	25	2,500		AM Snack	100	25	2,50
1	Lunch	400		10,000		Lunch	400	25	10,00
	PM Snack	100		2,500		PM Snack	100	25	2,50
1	Dinner	400		6,400		Dinner	400	16	6,40
Day	AM Snack	100	1	2,500		AM Snack	100	25	2,50
2	Lunch	400	1	10,000		Lunch	400	25	10,00
	PM Snack	100	1	2,500		PM Snack	100	25	2,50
70	Celebrating	Gains			T	Celebrating	Gains		
	Breakfast	200	120	10,000		Breakfast	200	50	10,00
	AM Snack	100	1	12,000		AM Snack	100	120	12,00
	Lunch	350		42,000		Lunch	350	120	42,00
	PM Snack	100		12,000		PM Snack	100	120	12,00
	Dinner	350		17,500		Dinner	350	50	17,50
73	ANNUAL PI	R for OKD	Program	ns	T	ANNUAL PI	R for OKD	Program	ns
Day 0 (Nov. 26)	Dinner	350	33	6,300		Dinner	350	18	6,30
Day	Breakfast	200		6,600		Breakfast	200	33	6,60
1	AM Snack	100		3,300		AM Snack	100	33	3,30
	Lunch	350		11,550		Lunch	350	33	11,55
	PM Snack	100		3,300		PM Snack	100	33	3,30
Day	Dinner	350		11,550		Dinner	350	33	11,55
2	Breakfast	200		6,600		Breakfast	200	33	6,60
	AM Snack	100		3,300		AM Snack	100	33	3,30
	Lunch	350		11,550		Lunch	350	33	11,55
79	Awarding C	eremony				Awarding Co	eremony		
	Breakfast	200	180	12,000		Breakfast	200	60	12,00
	AM Snack	100		18,000		AM Snack	100	180	18,00
	Lunch	350		63,000		Lunch	350	180	63,00
	PM Snack	100		18,000		PM Snack	100	180	18,00
	Dinner	350		21,000		Dinner	350	60	21,00

* *

80 Day 0	Conduct of Fair	Science and	d Techn	ology		Conduct of	Science a	nd Tech	nology
Day	Dinner	350	70	12,250		Dinner	350	35	12,250
1	Breakfast	200		14,000		Breakfast	200	70	14,000
	AM Snack	100		7,000		AM Snack	100	70	7,000
	Lunch	350		24,500		Lunch	350	70	24,500
	PM Snack	100		7,000		PM Snack	100	70	7,000
D	Dinner	350		24,500		Dinner	350	70	24,500
Day 2	Breakfast	200		14,000	ı	Breakfast	200	70	14,000
_	AM Snack	100		7,000		AM Snack	100	70	7,000
	Lunch	350		24,500		Lunch	350	70	24,500
	PM Snack	100		7,000		PM Snack	100	70	7,000
	Dinner	350		12,250		Dinner	350	70	12,250
	86 Speci	al Rexecom		'		87 Specia	al Rexeco	m	

7. Amendment/Supplemental in Section VII, Technical Specifications

NO.	FROM	то
	Maximum Quantity	Maximum Quantity
	17,608	19,299
	Catering Services/Meal Set-Up: 1. Breakfast: Two main dishes, rice, bread, vegetable salads, choice of hot tea/chocolate or coffee, and fresh fruits.	Catering Services/Meal Set-Up: 1. Breakfast: Two main dishes, rice, bread, vegetable or salads, choice of hot tea/chocolate or coffee, and fresh fruits.
	 In case of food poisoning, a. There shall be an outright cancellation of contract. b. The caterer shall be outright blacklisted. 	 In case of food poisoning, a. There shall be an outright cancellation of contract. a. Due process must be observed, including laboratory testing of the caterer's specimen to identify the cause, which will be compared with the patient's. Contract cancellation is permitted after due process. b. The caterer shall be outright blacklisted.

8. Supplemental in Section VII, Technical Specifications

TECHNICAL SPECIFICATIONS							
Item / Service	Maximum Quantity	Techn				ement of apliance	
				Comply	Not Comply		
			oval.	d user Reference			
		Date:	Menu:				
			Breakfast				
			AM Snack				
			Lunch				
			PM Snack				
			Dinner				